[image: image1.wmf](

)

dx

x

4

ò

.     Starter    .
Anti-differentiate the following:

1) 
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.     Finding the Integrating Constant    .
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Given a gradient function and a point we can we find the original function?






    What is the equation of the 






    gradient function?







    What is the general equation 

    of the original function?






    What value of ‘C’ will make






    the original graph pass 

    through point ‘P’?







   What is the equation of the 







 original equation?

.     Finding the Original Function ‘C’    .
Given a gradient function can we sketch the original function?

eg.
Given 
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So  C = 2    
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eg.
Find the equation of the curve which passes through (1,6) if  
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.     Practice    .
Find the equation of the original function, and the integrating constant ‘C’
1)  A graph passes through the point (1,3) and 
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    Find f(x)

2)  Given 
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 and f(2) = 5     Find f(x)
3)  
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    The function f(x) cuts the ‘x’ axis at x = 2  Find f(x)
4)   
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    The function f(x) has a root at x = -1  Find f(x)
5)   
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    The function f(x) cuts the ‘y’ axis at y = 5  Find f(x)



.     Starter    .
Find the equation of the original function, and the integrating constant ‘C’

1)    
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    The function f(x) passes through the origin.  Find f(x)

2)  Given that a graph passes through (-1,2) and  
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    Find f(x)

3)  Given 
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 and f(-4) = 1     Find f(x)


Now practice from Homework book:
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